Event Number E-37-22

Event Title Alsdorf Park Seawall and Dock Replacement

Event Type ITB

Issue Date 10/13/2022 08:34:54 PM (ET)
Close Date 11/17/2022 02:00:00 PM (ET)

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total
B & M Marine Construction,			11/17/2022 01:00:02 DM (FT)	4.4	
Inc.	Deerfield Beach	FL	11/17/2022 01:00:03 PM (ET)	44	\$1,781,595.50
Shoreline Foundation, Inc.	Pembroke Park	FL	11/15/2022 03:07:47 PM (ET)	44	\$1,964,290.00
ENCO, LLC	Pembroke Park	FL	11/17/2022 12:28:15 PM (ET)	44	\$2,015,314.00
Ebsary Foundation Co	Miami	FL	11/17/2022 10:09:42 AM (ET)	44	\$2,296,551.00
Orion Marine Construction,			11/17/2022 01/25/02 DM (FT)	4.4	
Inc.	Tampa	FL	11/17/2022 01:35:02 PM (ET)	44	\$3,443,470.00

				Inc.		Shoreline Fo	undation, Inc.	ENCO, LLC	
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
1	Contractor Mobilization-Demobilization- Clean-up-Site Restoration	1	ls	\$34,800.00	\$34,800.00	\$179,450.00	\$179,450.00	\$10,000.00	\$10,000.00
2	Staging- Fencing-Environmental Controls- Tree Protection	1	ls	\$16,500.00	\$16,500.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00
3	Insurances- Licenses-Bonds	1	ls	\$74,000.00	\$74,000.00	\$135,000.00	\$135,000.00	\$125,000.00	\$125,000.00
4	Survey Control - Layout -As-built Survey	1	ls	\$7,000.00	\$7,000.00	\$45,000.00	\$45,000.00	\$20,000.00	\$20,000.00
5	Concrete Panels - Furnish and Install (126 sf ea)	47	ea	\$3,820.00	\$179,540.00	\$3,900.00	\$183,300.00	\$6,500.00	\$305,500.00
6	Concrete King Piles - Furnish and Install	51	ea	\$3,017.00	\$153,867.00	\$2,650.00	\$135,150.00	\$2,300.00	\$117,300.00
7	Concrete Batter Piles - Furnish and Install	46	ea	\$2,926.00	\$134,596.00	\$3,000.00	\$138,000.00	\$2,300.00	\$105,800.00
8	Concrete Cap	394	lf	\$415.00	\$163,510.00	\$360.00	\$141,840.00	\$275.00	\$108,350.00
9	Demolition of Existing Structure	1	ls	\$49,250.00	\$49,250.00	\$130,000.00	\$130,000.00	\$10,000.00	\$10,000.00
10	Geotextile - Furnish and install	1	ls	\$14,300.00	\$14,300.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
11	Closure Pours	1	ls	\$4,800.00	\$4,800.00	\$15,000.00	\$15,000.00	\$2,000.00	\$2,000.00
12	Panel/King Pile Joint Grouting	1	ls	\$14,400.00	\$14,400.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00
13	Marginal Dock - Fixed - Furnish and Install- Alum. frame w/ composite decking	1488	sf	\$175.00	\$260,400.00	\$130.00	\$193,440.00	\$250.00	\$372,000.00
14	Marginal Dock - Floating (9.5'x40') - Furnish and Install-Alum. frame w/ composite decking	380	sf	\$222.00	\$84,360.00	\$150.00	\$57,000.00	\$270.00	\$102,600.00
15	Concrete Piles (Floating Dock) - Furnish and Install	3	ea	\$3,400.00	\$10,200.00	\$3,000.00	\$9,000.00	\$3,200.00	\$9,600.00

				B & M Marine Construction, Inc.		Shoreline Fo	undation, Inc.	ENCO, LLC	
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
16	Concrete Piles (Fixed) - Furnish and Install	46	ea	\$2,450.00	\$112,700.00	\$2,000.00	\$92,000.00	\$2,600.00	\$119,600.00
17	Access Platform - Waterside (5'x10') - Furnish and Install	50	sf	\$260.00	\$13,000.00	\$125.00	\$6,250.00	\$174.00	\$8,700.00
18	Concrete Piles (Access Pier) - Furnish and Install	3	ea	\$2 <i>,</i> 450.00	\$7,350.00	\$1,900.00	\$5,700.00	\$2,200.00	\$6,600.00
19	Aluminum Gangway (4'x24') - Furnish and Install	1	ea	\$28,400.00	\$28,400.00	\$11,000.00	\$11,000.00	\$42,000.00	\$42,000.00
20	Aluminum Gangway (5'x24') - Furnish and Install	1	ea	\$29,500.00	\$29,500.00	\$15,000.00	\$15,000.00	\$43,000.00	\$43,000.00
21	Concrete Pile Cap, Trim and Fenders	24	ea	\$1,700.00	\$40,800.00	\$1,000.00	\$24,000.00	\$1,200.00	\$28,800.00
22	Concrete Pile (Floating Dock) Caps	3	ea	\$150.00	\$450.00	\$150.00	\$450.00	\$110.00	\$330.00
23	Aluminum Ladders - Furnish and Install	2	ea	\$1,015.00	\$2,030.00	\$1,100.00	\$2,200.00	\$721.00	\$1,442.00
24	Cleats - (15") - Supply / Install	46	ea	\$125.00	\$5,750.00	\$150.00	\$6,900.00	\$37.00	\$1,702.00
25	Demolition and Disposal of Existing Structure	1	ls	\$26,500.00	\$26,500.00	\$78,780.00	\$78,780.00	\$20,000.00	\$20,000.00
26	Aluminum Railing	166	If	\$71.00	\$11,786.00	\$95.00	\$15,770.00	\$50.00	\$8,300.00
27	Catch Basins and Jet Filters - Furnish and Install	4	ea	\$1,950.00	\$7,800.00	\$5,000.00	\$20,000.00	\$3,000.00	\$12,000.00
28	Landside Concrete Gangway Landing Pad	81	sf	\$36.50	\$2,956.50	\$50.00	\$4,050.00	\$15.00	\$1,215.00
29	Asphalt Restoration	1	ls	\$22,000.00	\$22,000.00	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00
30	Fire Cabinet Removal and Standpipe Installation	1	ls	\$3,800.00	\$3,800.00	\$15,000.00	\$15,000.00	\$4,700.00	\$4,700.00

				B & M Marine Construction, Inc.		Shoreline Foundation, Inc.		ENCO, LLC	
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
31	Fire Extinguisher Cabinets	4	ea	\$6,335.00	\$25,340.00	\$125.00	\$500.00	\$550.00	\$2,200.00
32	Sewer Pumpout and Slab Removal	1	ls	\$2,450.00	\$2,450.00	\$2,500.00	\$2,500.00	\$715.00	\$715.00
33	Electrical-Plumbing Demolition and Disconnects	1	ls	\$3,250.00	\$3,250.00	\$6,000.00	\$6,000.00	\$5,300.00	\$5,300.00
34	Existing Sign Removal and Reinstallation	1	ls	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$550.00	\$550.00
35	Fill, Compaction and Grading	1	ls	\$10,500.00	\$10,500.00	\$30,000.00	\$30,000.00	\$70,000.00	\$70,000.00
36	Excavation Landward of Existing Cap	1	ls	\$13,100.00	\$13,100.00	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00
37	Natural Rock Mitigation-Furnish and Install	1	ls	\$39,500.00	\$39,500.00	\$28,000.00	\$28,000.00	\$70,000.00	\$70,000.00
43	Contingency	1	ls	\$169,000.00	\$169,000.00	\$169,000.00	\$169,000.00	\$169,000.00	\$169,000.00
44	Indemnification	1	ls	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
				Total Price	\$1,781,595.50	Total Price	\$1,964,290.00	Total Price	\$2,015,314.00

Add-Alternate items*

38	Composite Sheetpile - Furnish and Install	394	lf	\$1,652.00	\$650,888.00	\$1,150.00	\$453,100.00	\$1,486.00	\$585,484.00
39	Concrete Batter Piles-Sheetpile System -								
39	Furnish and Install	46	ea	\$3,342.00	\$153,732.00	\$3,000.00	\$138,000.00	\$2,300.00	\$105,800.00
40	Concrete Cap-Sheetpile System	394	lf	\$435.00	\$171,390.00	\$360.00	\$141,840.00	\$275.00	\$108,350.00
41	Demolition of Existing Structure-Sheetpile								
	System	1	ls	\$49,250.00	\$49,250.00	\$130,000.00	\$130,000.00	\$10,000.00	\$10,000.00
42	Closure Pours-Sheetpile System	1	ls	\$4,800.00	\$4,800.00	\$600.00	\$600.00	\$2,000.00	\$2,000.00

^{*}The City reserves the right to award bid with or without the cost of the Add-Alternate items

				Ebsary Fou	undation Co	Orion Marine Construction, Inc.	
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended
1	Contractor Mobilization-Demobilization- Clean-up-Site Restoration	1	ls	\$38,720.00	\$38,720.00	\$408,367.00	\$408,367.00
2	Staging- Fencing-Environmental Controls- Tree Protection	1	Is	\$24,440.00	\$24,440.00	\$47,310.00	\$47,310.00
3	Insurances- Licenses-Bonds	1	ls	\$125,000.00	\$125,000.00	\$226,435.00	\$226,435.00
4	Survey Control - Layout -As-built Survey	1	ls	\$14,085.00	\$14,085.00	\$23,638.00	\$23,638.00
5	Concrete Panels - Furnish and Install (126 sf ea)	47	ea	\$7,793.00	\$366,271.00	\$9,241.00	\$434,327.00
6	Concrete King Piles - Furnish and Install	51	ea	\$4,067.00	\$207,417.00	\$4,048.00	\$206,448.00
7	Concrete Batter Piles - Furnish and Install	46	ea	\$4,294.00	\$197,524.00	\$9,643.00	\$443,578.00
8	Concrete Cap	394	lf	\$522.00	\$205,668.00	\$766.00	\$301,804.00
9	Demolition of Existing Structure	1	ls	\$39,445.00	\$39,445.00	\$115,039.00	\$115,039.00
10	Geotextile - Furnish and install	1	ls	\$7,585.00	\$7,585.00	\$9,018.00	\$9,018.00
11	Closure Pours	1	ls	\$15,885.00	\$15,885.00	\$6,046.00	\$6,046.00
12	Panel/King Pile Joint Grouting	1	ls	\$26,645.00	\$26,645.00	\$25,173.00	\$25,173.00
13	Marginal Dock - Fixed - Furnish and Install- Alum. frame w/ composite decking	1488	sf	\$145.00	\$215,760.00	\$144.00	\$214,272.00
14	Marginal Dock - Floating (9.5'x40') - Furnish and Install-Alum. frame w/ composite decking	380	sf	\$134.00	\$50,920.00	\$151.00	\$57,380.00
15	Concrete Piles (Floating Dock) - Furnish and Install	3	ea	\$7,835.00	\$23,505.00	\$4,335.00	\$13,005.00

				Ebsary Fo	undation Co	Orion Marine Construction, Inc.		
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	
16	Concrete Piles (Fixed) - Furnish and Install	46	ea	\$3,925.00	\$180,550.00	\$4,196.00	\$193,016.00	
17	Access Platform - Waterside (5'x10') - Furnish and Install	50	sf	\$193.00	\$9,650.00	\$260.00	\$13,000.00	
18	Concrete Piles (Access Pier) - Furnish and Install	3	ea	\$6,760.00	\$20,280.00	\$5,002.00	\$15,006.00	
19	Aluminum Gangway (4'x24') - Furnish and Install	1	ea	\$20,495.00	\$20,495.00	\$28,799.00	\$28,799.00	
20	Aluminum Gangway (5'x24') - Furnish and Install	1	ea	\$23,025.00	\$23,025.00	\$18,816.00	\$18,816.00	
21	Concrete Pile Cap, Trim and Fenders	24	ea	\$2,640.00	\$63,360.00	\$2,154.00	\$51,696.00	
22	Concrete Pile (Floating Dock) Caps	3	ea	\$1,467.00	\$4,401.00	\$218.00	\$654.00	
23	Aluminum Ladders - Furnish and Install	2	ea	\$1,258.00	\$2,516.00	\$2,034.00	\$4,068.00	
24	Cleats - (15") - Supply / Install	46	ea	\$355.00	\$16,330.00	\$206.00	\$9,476.00	
25	Demolition and Disposal of Existing Structure	1	ls	\$84,400.00	\$84,400.00	\$37,319.00	\$37,319.00	
26	Aluminum Railing	166	lf	\$135.00	\$22,410.00	\$133.00	\$22,078.00	
27	Catch Basins and Jet Filters - Furnish and Install	4	ea	\$2,850.00	\$11,400.00	\$4 <i>,</i> 687.00	\$18,748.00	
28	Landside Concrete Gangway Landing Pad	81	sf	\$46.00	\$3,726.00	\$118.00	\$9,558.00	
29	Asphalt Restoration	1	ls	\$7,295.00	\$7,295.00	\$39,082.00	\$39,082.00	
30	Fire Cabinet Removal and Standpipe Installation	1	ls	\$15,538.00	\$15,538.00	\$22,063.00	\$22,063.00	

				Ebsary Fo	undation Co	Orion Marine Construction, Inc.		
Line	Description	QTY	UOM	Unit	Extended	Unit	Extended	
31	Fire Extinguisher Cabinets	4	ea	\$1,940.00	\$7,760.00	\$1,970.00	\$7,880.00	
32	Sewer Pumpout and Slab Removal	1	ls	\$2,925.00	\$2,925.00	\$2,474.00	\$2,474.00	
33	Electrical-Plumbing Demolition and							
33	Disconnects	1	ls	\$5,280.00	\$5,280.00	\$34,106.00	\$34,106.00	
34	Existing Sign Removal and Reinstallation	1	ls	\$3,375.00	\$3,375.00	\$4,947.00	\$4,947.00	
35	Fill, Compaction and Grading	1	ls	\$24,925.00	\$24,925.00	\$91,338.00	\$91,338.00	
36	Excavation Landward of Existing Cap	1	ls	\$15,775.00	\$15,775.00	\$39,979.00	\$39,979.00	
37	Natural Rock Mitigation-Furnish and Install	1	Is	\$23,255.00	\$23,255.00	\$78,517.00	\$78,517.00	
43	Contingency	1	ls	\$169,000.00	\$169,000.00	\$169,000.00	\$169,000.00	
44	Indemnification	1	ls	\$10.00	\$10.00	\$10.00	\$10.00	
			·	Total Price	\$2,296,551.00	Total Price	\$3,443,470.00	

Add-Alternate items*

38	Composite Sheetpile - Furnish and Install	394	lf	\$1,595.00	\$628,430.00	\$638.269	\$251,477.99
39	Concrete Batter Piles-Sheetpile System -						
39	Furnish and Install	46	ea	\$4,358.00	\$200,468.00	\$0.01	\$0.46
40	Concrete Cap-Sheetpile System	394	lf	\$511.00	\$201,334.00	\$0.01	\$3.94
41	Demolition of Existing Structure-Sheetpile						
41	System	1	ls	\$82,225.00	\$82,225.00	\$0.01	\$0.01
42	Closure Pours-Sheetpile System	1	ls	\$6,825.00	\$6,825.00	\$0.01	\$0.01

^{*}The City reserves the right to award bid with or without the cost of the Add-Alternate items

Line	Attribute Name	B & M Marine Construction, Inc.	Shoreline Foundation, Inc.	ENCO, LLC	Ebsary Foundation Co	Orion Marine Construction, Inc.
1	Substantial Project Completion	190	150	180	197	220
2	Final Project Completion	205	180	30	228	30
3	Conflict of Interest	No	No	No	No	No
4	Vendor Certification Regarding Scrutinized Companies Lists (Any Dollor Amount)	Certified	Certified	Certified	Certified	Certified
5	Drug-Free Workplace	Yes	Yes	Yes	Yes	Yes
6	Additional Items at Awarded Contract Price	0	75	0	90	0
7	Acknowledgement of Addenda	Yes	Yes	Yes	Yes	Yes
8	Terms & Conditions	Agree	Agree	Agree	Agree	Agree